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(b) 90 Y% oAfth BH-H-HH T 99 oidl 8, o Hae
© 127 g4 o ot =afeedi 1 e fha R 2
(a) 50
d 129
(b) 40
10 7 fem e w2 R opEwa| O
(product) 29 x 28 x 27 x ... 2 x 1 & fawifoa d 20
HTR ?
(a) 4 A, B, C, D 3R E Th ad™ T& Hd & |
d2:3:4:5:6% Igua § §oit e w@
LU # | Wy, I g S T G H I
() 6 6:5:4:3:2% | afe sier 99 aren @ Faw
foru o g o Gt % smaEET 8, @ R
ot ey 3rferss &1y 9TH g 2
65%° = 11 ¥ fawfa +@ w Ivws ? Tk
ek (b) B3 DA
@ 0 (¢ C3Dar
® 5 (d) Gt I ST I B
€ 9
S 1k 7. Frafafga genet w fmm Hiftc .
1. 437
4. AfE w1 x® — bx + ¢ = 5% YAl HT I 5 B, 2. 1797
@ Feafafea d @ et 2 2 3. 1073
o I9gh wemat | fahat send sy & 2
2 (a) %rqaqa:
) c?=4b-5
(b) ae @l
(€ b’+c’=5 © @t dm
(d) b2—(52=5 (d) iﬁ'}gtﬁq—éf
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1.  What is the largest number which divides both |5.  In a party of 150 persons, 75 persons take tea,

299 _ 1 and 29112 60 persons take coffee and 50 persons take
milk. 15 of them take both tea and coffee, but
no one taking milk takes tea. If each person in
(b) 90 the party takes at least one drink, then what
is the number of persons taking milk only ?

(a) 34

(e} 127
(a) 50
(d 129
(b) 40
() 30
2. What is the largest power of 10 that divides @ 20
the product 29 x 28 x 27 x ... 2x17?
(a) 4 6. A, B, C, D and E enter into a business. They

invest money in the ratio 2 : 3 : 4 : 5 : 6.
). & However, the time invested by them is in the
(c) 6 ratio 6 : 5: 4 : 3 : 2. If the profit distributed is
directly proportional to time and money

o T invested, then who receives the highest
amount of profit ?
3.  What is the remainder when 65 is divided by (@ C
117 (b) Both B and D
(@ 0 (¢) Both Cand D
(b) 5 (d)  All get equal profit
€ 9
o i 7.  Consider the following numbers :
1. 437
4. If the roots of the equation x> -bx+c=5 2. 797
differ by 5, then which one of the following is 3. 1073
oamect ? How many of the above numbers are prime ?
(@) bP=4c+5 (a) Only one
b) Z=4b-5 (b) Only two
(© bP+c’=5 (c) Al three
@ b’-?=5 (@ None
JNBY-D-MTK (3-A)
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8. ATUH ®@ ® BH qo # g M H H|11. IR a b de L
Gl ® | 39 a1 B3 FE 1 CH gor 2a = 3b = 6c = 9d = 12e = 18f F TGE F 3,
AT ARG NPT, pfcrdresn MAmTME?
#d # 12 &A1 § gue = gHd & | C Fa
70 w1 @i frad i o qof ot awar 2 2 (a) 4/7
(a) 36f (b) 2
b) 45f= () 5/2
(¢ 60f& @ 9/2
@ e6f=
12. IR a, b, ¢ YW TRAfash TN &, W THR
° ﬁﬁﬁiﬁ@ﬁ@%?ﬁﬂﬁaﬂﬁ 12%| %a+b+c=0%,?ﬁ€fﬂ'ﬁmax2+bx+c=0
IR WiF W owEee R W, @ genm| P TE?
IT3NE ¢ U | T&AT H 3l & " H 7 @) 2 telay
TR
T () 1,alc
(b) 2 (0 1,¢/a
© 3 @ 2 (/a)-1
d 4
13. ol fashar gro @iie 7T Fel § ¥ SR gfava
10. ﬁﬁg@ﬁ,mﬁjﬁjﬁm Tﬁ;@@g S garE % A0 T8 B 9 & | 9l 99 g
Wnaigagﬁa;@% aﬁaﬁm Fell H o U fskar B FA 4% B AW B4
10 [ ) Tt 2 | a2 fagsar 1 1% oft Fen @ T g A
o feen § s @ & @ sEd 20 dwvs @ . .
. 3 9% 3% ah 99 §U hell b qed W A
£ | el Tt A d9rE 200 m R 3R gEd ot At
et il 150 m B | Teelt et it = @@ , BT ™ ey
22 (a) 8%%
(a) 60km/hr i
b 9—%
(b) 56 km/hr =
(¢) 54 km/hr (e) 18%%
@) 52km/hr (@ 3ITfE H A FE TE
JNBY-D-MTK (4-A)
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8. A can do a certain work at twice the speed of
B. Further, B can do the same work at
1-5 times the speed of C. All of them together
can finish the work in 12 days. In how many
days can C alone finish the work ?

(a) 36 days
(b) 45 days
(c) 60days
(d) 66 days

9. The sum of digits of a 2-digit number is 12.
When the digits are reversed, the number
becomes greater by eighteen. What is the
difference between the digits in the number ?

(a)
(b)
(c)

= W N

(d)

10. The time taken by a train to cross a man
travelling in another train is 10 seconds, when
the other train is travelling in the opposite
direction. However, it takes 20 seconds, if both
the trains are travelling in the same direction.
The length of the first train is 200 m and that
of the second train is 150 m. What is the speed

of the first train ?
(a) 60 km/hr
(b) 56 km/hr
(¢) 54 km/hr

(d) 52 km/hr

JNBY-D-MTK

(5-

115

12,

13.

A)

If a,b,c,d, e and f satisfy
2a = 3b = 6¢ = 9d = 12e = 18f, then what is the
valueof (a +b)f(c+d+e+f)?

(@) 4/7
(b) 2

(¢ 5/2
(@ 9/2

If a, b, ¢ are non-zero real numbers such that
a + b + ¢ = 0, then what are the roots of the

equation ax’ +bx+c =07?

(a) 2,1+/(c/a)
(b 1,alc
(¢) 1,c/a
(d) 2,(c/a)-1

Twelve percent of bananas bought by a fruit
vendor got lost during transportation. On
selling the remaining bananas, the vendor’s
overall profit turned out to be 4%. If the
vendor had not lost any bananas and had sold
them at the price of the remaining bananas,

what would have been his profit percentage ?

1
8—%
(a) 9
1
b 9—%
(b) 11
2
18— %
(c) 11
(d) None of the above
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14. IR (5 +3J2) (5 -342) F TS A «[17. T G T R B n-1, n WM n+1 W
2, T 8 + 20T YATCHD SIS FIT BT 2 5 famfya a& &, w@f 0 & W Qs
(positive integer) ? | Fafafgs 4 @ o
(a) 2+ 43 @R
® 3-42 (a) (m+ 1) 5 amfem w2
@ AT-=1 () (%-1)H 5T s 2
@ J7 +1 (¢) (n+n)® 5fawfoa s@r
(@) @%-n)H 5 fawfse s
15. 32 g% faww quies (1 & @191) H 94 TH|18. 5 3! I 98 GaQ 99 T B R, Bl Al
ud %t 8 ° fawfsa feem s, & Swwer = 18 3 11 ¥ fawfsa fenm S, &1 Swwa
a1 2 7HEAT R ?
(a) 99981
(a 3
(b) 99988
(b) 2 (¢) 99997
e 1 (d) 99999
(d TWAEEE E 2 fEIvEAa 1@ 8| 19. U SAMINE 9424 §, A B®HI T 20,0002 &
St 599 91g feu I 8 3R BA AW T 12,000
HENMagdae e & | s@ 3 @ 5% H
16. fr=ferfiga st w fomm Hifsw T ¥ WYURY S 9 gehdl T =Ed & | 39
1. 'ﬂﬁ n Th 'T-I‘I?f & (natural number) ﬁﬁqmwa‘“ ?
Ll ' (a) S SO 8
2, @ gem ot T et we (b) B, T 6,000 AI 2
2 (¢) A, T 6,000 B 2m
2. A m ©h faw" QUi (0dd integer) &, @ A ¥ 4,000B% W
oy T hdmt 1l wF gl |20- 30 BE! a1t HawE A forg # Sft|a 31 65 &
TR oit 35 Bl a1 awe B A T § shed s
Eo o 70 % | 3R = § 7 w e @ B o
304 wYA § @ BE-AVA g8 ¥/ 2 e Ufaf® § 47 F W W nedt | 74 o mn
?, A1 SF1 Yl % 3Ea 37 (TTNT) w1 E 2
(a) ad 1
(a) 6728
b) S 2 (b) 6758
(© 13 23Hi © 6811
(d JTaL,T#E2 (d) 6863
INBY-D-MTK (6-A)
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14. If the positive square root  of|17. It is given that 5 does not divide n — 1, n and
(5 + 342) (5 — 342) is @, then what is the n + 1, where n is a positive integer. Which one
positive square root of 8 + 2ct ? of the following is correct ?

@ 2448 (a) 5 divides (n® + 1)
(b) 5 divides (n®-1)

b 3-42 (© 5 divides @+ n)

(@ V7 -1 (@ 5 divides (n® - n)

@ 7 +1 18. What is the largest 5-digit number, which
leaves remainder 7, when divided by 18 as

15. When every even power of every odd integer well as by 117
(greater than 1) is divided by 8, what is the (a) 99981
remainder ? (b) 99988
@ 3 (c) 99997

(d) 99999
(b) 2
@ 1 19. In a business dealing, A owes B ¥ 20,000
c
payable after 5 years, whereas B owes A
(d) The remainder is not necessarily 1. ¥ 12,000 payable after 4 years. They want
to settle it now at the rate of 5% simple
16. Consider the following statements : interest. Who gives how much money in this
settlement ?
1. Ifnisa natuzral number, then the (a) Both areat par
n(n” +2) . ;
number ———— is also a natural (b) B gives ¥ 6,000 to A
SR (¢) Agives % 6,000 to B
(d) Agives T 4,000to B
2. If mis an odd integer, then the number
m* +4m? +11 is an integer. 20. Average marks in Mathematics of Section A
16 comprising 30 students is 65 and that of
Which of the statements given above is/are Section B comprising 35 students is 70. What
£ are the average marks (approximately) of both
correct ?
the sections if it was detected later that an
(a) 1lonly entry of 47 marks was wrongly made as 74 ?
(b) 6758
(¢) Both1and 2 © 6811
(d) Neither 1 nor 2 (d) 6863
JNBY-D-MTK (7-A)

BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM

WWW.EAZYSALE.IN




21, AR oMM padfer x> - 7x+1=0 F g1 &, [24. 3¥ -9 3 _gmHCFF R ?
@ ot+p! mEm TR ? 9
(a) 8 -1
(a) 2207 ® =i
11
(b) 2247 R
@ 3-9
¢ 2317
@ 2387 25. ARx= 4‘/4,}4,/4... B A XxHIAA TR ?
(@) 2
22. 360 & Tt @Sl (bF) F Tl o b 4
Frafefiga sl w fa=wr fifvw .
(c) 8
1. TUAES! i T 24 2 | @ 16
2. oft TUFEE! T FTRE 1170 % | A
26. WA ST m 3 n gl F@E ¥ | (m +n) H
I woEl A A BHAA 98 ¥/E 2 =an 7 #11 8 @ fF 33m + 22n, 1217
(a) had 1 el b
(a) 3
(b) e 2
(b) 4
(@ 1323w e 5
d JIa 1,982 (d 10
T 27. 3§ A F PEBE 2160 B 3R ITH HCF
28. ;“m_mqu*%’“m*““w 128 | TR 2 sl & w1 e 4896
W ; 3, it 2t Henat w1 e T R 2
(a) wHad 3R T7H i
(b) Fad 73R 138 b) 36
(¢) 8,133 37% (c) 48
@ 3,7,133R 37/ @ 96
JNBY-D-MTK (8-A)
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21. If o and B are the roots of the equation
2 - Tx + L= 0, then what is the value of
ot +p4?

(a) 2207
(b) 2247
(e) 2817
(d) 2337

22, Consider the following statements in respect

of all factors of 360 :

1. The number of factors is 24.

2.  The sum of all factors is 1170.

Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

23. Consider a 6-digit number of the form

XYXYXY. The number is divisible by :
(a) 3and?7only
(b) 7 and 13 only
(¢) 3,13 and 37 only
(d) 3,7,13 and 37
JNBY-D-MTK (9-

24,

25.

26‘

27.

A)

What is the HCF of 3%° —9and 3% -9 ?

@ 3°-1

) 8 =i

(@0 B%-3

@ sH=g

If x = \/4/4/4/4... , then what is the value
of x ?

(a) 2

(b) 4

(e 8

d 16

Let m and n be natural numbers. What is
the minimum value of (m +n) such that
33m + 22n is divisible by 121 ?

(a) 3
(b) 4
() 5
(d 10

The product of two numbers is 2160 and their
HCF is 12. If the sum of the squares of the two
numbers is 4896, then what is the mean of the
two numbers ?

(a) 24
(b) 36
() 48
(d 96
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28. QI Y PH Y ¥ 3 a9 fuws 2 | R A
g P Iy g R e QA g s A
Ay 1 g B | 3% e R 3t s Hi ey
H30a H AW R | PR Q A Wy W

ANTHe FT 2 ?
3594
38 99

(a)
(b)
() 3979

(d 4598

29,

“ﬁa,bﬁ(c,ﬁ'ﬂﬁABCﬁwg,?ﬁ
Ja + Vb - Je wHET:

(a) OTHH &
(b) EATCHS B
(¢) FRURK (non-negative) &

(d) "W (non-positive) &

=R Hfedt (bells) & S www: 15 fiFe, 25 fime,
35 e 3t 45 fire & ofauer § awdt & | IR
aeft afeat 9 A M. W wwct &, @ P 72 9e §
q 3R fopaft s w iy st 2

30.

(a) O

<) |

) 2

(d 3

JNBY-D-MTK

31.

32.

(10-A)

" A a, b, ¢ 3R d TR w7 quifes
(positive integers) &, 39 JHR f%
a+b+c+d=200 8| 3
S=(-12+1P +(1°+(-1i %, N SH
o gwifea = & 2

(a) U
3

LI

(b)
(c)

(d) =R

e 9770 - 140 sy B
379 AT 838 7
83 @ AAfeha 378 T
() 373 833HI &

(d Td 378, TE 83

(a)

(b)

Frafefen Hoi w famm it
1. logy 50 T IR &1 R |
2. logyqp 10 T T T 2 |
I ol B & BRI T A
(a) *ad 1

(b) ae 2

1.3 2 3

(e)

d AWM LIS 2
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28. The age of Q exceeds the age of P by 3 years. [81. Let a,b,c and d be four positive
The age of R is twice the age of P and the age integers such that a+b+c+d=200.
of Q is twice the age of S. Further, the age IS = (-1* + (-1 + (-1 + (-1)°, then what
difference of R and S is 30 years. What is the is the number of possible values of S ?
sum of the ages of Pand Q ?
(a) One
(a) 35 years
(b) Two
(b) 38 years
(¢) Three
(¢) 39 years
(d) Four
(d) 45 years
32. The number 97°° — 14%° is divisible by :
29. If a, b and c are the sides of a triangle ABC,
then va + Vb — e is always: (a) 87but not 83
(a) Negative (b) 83 but not 37
®) . Positive (c) Both 37 and 83
M i
R e (d) Neither 37 nor 83
(d) Non-positive
33. Consider the following statements :
80. There are four bells which ring at an interval 1. ]oglo 50 is a rational number.
of 15 minutes, 25 minutes, 35 minutes and ' J _
45 minutes respectively. If all of them ring at % Iopge MR N EORtumal nUtiber.
9 AM., how many more times will they ring Which of the statements given above is/are
together in the next 72 hours ?
correct ?
()" 0 (a) 1only
(by 1 (b) 2only
e 2 (¢) Both1and2
@@ 3 (d) Neither 1 nor 2
JNBY-D-MTK (11-A)
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84, 3R 17 wfgand 3t 24 gow wh wmW *1 5 o7 #|37. Frafifas syt w e it .
U H FHd & 3R 12 wfgand 3t 23 gew I

%W ® 6 f27 d q@ = T &, 9 F=ffaa & L S

ARRETd 2 2 2. n’-n, 5AWSTR |
(a) 13 Afkenai F gerar = 18 TEET 6 g 3. n°-5n®+4n, 120 WT R |
(b) 11 wfEems H1 2 = 16 o9 H g@D I FoAl A A B T E 2
(c) 13 wfgenaii &I q&rar = 17 Go61 hi g&r ) ::Zlﬁz

(b) 2 3t 3
(@ 11 wfeanelt i gEET = 15 gout 1 ga e

@ 1,233

35. o 94 A, B 3 C U @19 U Tl I 6 TS A
WA & | T C 3ohell 36 2 1 12 92 §(38. Iha S=97+27° w1 siftm sH R 2
W HHal & | Th B 9@ F o, S9 77 @rel (a) 3
Bt B, @ A A9 v @y @@ Ry W@ b 6
g1 tHS F R, T4 C H §g H A v B @ 7
AR TH H wE § gu M o F | ¢ Frow @ 9

TR B 2
. 39. arau%aﬂzy:g:,am_yam
® 2 A R 2
© 4 (@) 60
G (b) 4543
© 3043
@ 90

36. A, B 3 C Uk M ® HFHAM: x, 1-5x 3N 2x
foi & qu o wha & | IR I wh Gy o140, 6 g O @ A 0 15 kv B | AR TR
W H [ FA F, A 7 R0 T § e T1a grn Hit e § 42 km 3Ry A Reda

fopar T =R 2 fesm © 28 km TUH THT § 9¥ w8, @ U
EIRIIG i

() 2:8:4

b) 6:4:3 o AR
(b) 3km/hr

e J:2:1
(¢) 45 km/hr

d 4:3:2
(d 6kmsr

JNBY-D-MTK (12-A)
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34.

JNBY-D-MTK

If 17 women and 24 men can do a piece of
work in 5 days and 12 women and 23 men can
do it in 6 days, then which one of the following
is correct ?

(a) Efficiency of 13 women = Efficiency of
18 men

(b) Efficiency of 11 women = Efficiency of
16 men

(¢) Efficiency of 13 women = Efficiency of

17 men

(d) Efficiency of 11 women = Efficiency of
15 men

Three taps A, B and C together can fill a tank
in 6 hours. Tap C alone can fill the tank in
12 hours. To fill the tank, when it is empty, all
the three taps are started together. After
working t hours, tap C is closed and the tank
is filled in 8 more hours. What is t equal to ?

(a) 1
(b) 2
0 4
d 6

A, B and C can complete a work in x, 1-5x and

2x days respectively. If they complete the work

together, in what ratio should they be paid ?

(a) 2:3:4

(b) 6:4:3

@) 8:2:1
4

(d) +3:92

37. Consider the following statements :
1. n®-n is divisible by 6.
2.  n®—n isdivisible by 5.
3. n®-5n®+4n is divisible by 120.

Which of the statements given above are
correct ?

(a) 1and 2 only
(b) 2and 3 only
(¢) 1and3only

(d 1,2and3
38. What is the last digit of the sum S = 9% + 27%7
(a) 3
(b) 6
@: 1
@ 9
J3+1 J3 -

1
39. Ifx=-—— and y = ——, then what is
\[5—1 J§+1

the value x° — y3 ?

(a) 60
(b) 4543
(c) 3043
(d) 90

40. The speed of a boat in still water is 15 km/hr.
If it can travel 42 km downstream and 28 km
upstream in the same time, then what is the
speed of the stream ?

(a) 25 km/hr
(b) 3 km/hr
(¢) 45 km/hr
(d) 6 km/hr

(13-A) BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FRO
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41,

T 10,000 W T 9§ & U 209 &i arffe =1 4| 43.
T & § TOFT HE T Thgly S 3R

HIYTV] ST T L 941 8 ?

(a) T 842
(b) T 756
() %641
(d) T 542

42, 89S (polynomial) a(b — ¢)(x — b) (x — ¢) +|44.
b(c—a)(x-c)(x—a) + cla-b)(x—a)(x-Db)
% " 7 fr=ferfiga st v fa=m Hifu .
1. x*®ITOTH 07 |
2. xH IS (a—b)(b—c)(c—a)? |
394 HEl A BH-AUA T A 2 45.
(a) Had 1
(b) et 2
(c) Iaﬁ“{z?ﬁﬁ
(@ Fa 1,982
JNBY-D-MTK (14-A)

WEIE 1 - x - x" + X" & wed ¥ fFefafea
w9 W foem Fif, 76 0 v gl dem

(natural number) 2 :

1L TW1-2x+x° AUT R |
2. W1-x"VUIR |

I FE § § FH-A0E T A3 2
(a) a1

(b) Had 2

(¢) 13K 23Mt

@ FT@1,Td2

m%ﬁnwﬁi%ﬁm mx” + mx + 8x + 9 Tsh
qui & B 2

(a) 1,4
(b) 4,9
() 9,16
(d) 4,16

e x=a+b+ (_a_—_bﬁ 3

4a + 4b
y=a+h+ ab 2 A x—a)2—(y—b)?2 F
P %
qH FE ?
(a) a’
(b) b’
(¢) ab
@ a?b?
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41. What is the difference between simple 43. Consider the following statements in respect
. n n+l .
interest and compound interest on ¥ 10,000 of the polynomial 1 - x - x" + x™", where n is
a natural number :
for two years at 20% per annum compounded
halPvearly ¥ 1. Itis divisible by 1 — 2x + x°.
2. Itis divisible by 1 —x".
(a) T 842
Which of the statements given above is/are
(b) < 756 correct ?
© 7641 (a) 1lonly
(b) 2only
(d) T 542
(¢) Bothland2
(d) Neither 1 nor 2
42. Consider the following statements in respect
of the pulyiial SR = i o 44. For what values of m, is mx> + mx + 8x + 9
blc—a)(x-c¢)(x—a) + cla—b)(x—a)(x-b): a perfect square ?
(a) 1,4
1. The coefficient of x° is 0. 2
(b) 4,9
2. Th fficient of x is (a — b) (b — —a).
e coefficie is(a—b)(b—c)(c—a © 9,16
Which of the statements given above is/are @ 4,16
correct ? .
45. Ifx=a+b+ (a—b) and y = at+b + ab )
4a +4b -4 a+b
(a) 1lonly 9 9
then what is the value of (x—a)*—(y—b)" ?
(b) 2only (a) a2
(b) b
(¢) Bothland2
(¢) ab
(d) Neither 1 nor 2
JNBY-D-MTK (15-A)
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46. Traffeas w faem Hifvw . 48. AR tan® 0+ cotP 0 =m, A tan 6 + cot 6 I
HH TR 2
1. cos“e—sm“e=ﬁa£éf’_,0<e<g
1-tan” @ (a) ,Nm+2+2
2 cosec O + cot O = .
, msece_mte, (b) ,fm+4+2
0<9<g
(e) J‘Nm+2+2+2
_ 2
3. cos29—sin29=}ﬂ2—9,0<9<g
1+tan® 6 (d) me
39 T § ¥ - wautie € 2
m
49. 6-4sin0, 0<0< = o AdH HH T & ?
(a) had 137K 2 2
(b) Faet 237 3 L
b) 2
(¢) %aet 137k 3
(c) 4
(d 1,23R3
(d) 6
47. ﬂﬁsinﬁ:%%,?ﬁ
2 (] - LI 2 o
(tanB+secB)2(cosec9—cotB)_2, 0<f< X B %50 ™/30°+ B i 90°~ 0o 50
ar;rrrmam%v 2 6 tan 15° tan 75° =0
' I HIE HE dT x 1 TH T8 ?
121
(8) T
(a) 1
b 189
9 b) 2
(c) 196
9 (e) 3
225
W @ 6
JNBY-D-MTK (16-A)
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46, Consider the following : 48.
1. cos*@-sin*e= Lﬂg, 0<0< X
1-tan® @ 2
1
2. cosecB+cot=z ——,
cosec O — cot 6
0<B< =
2
] 2
3. (:oszﬂ—si1126=]'—t—m—l-z-ﬂ,0<El«:E
1+tan® 0 2
Which of the above equations are identities ?
49.
(a) 1and2only
(b) 2and 3only
(¢) 1and 3 only
(d 1,2and3
. 12 :
47. If sin@= Tl then what is the value of
(tanB+secB)2(cosecﬂ—cotB)_2, 0<0< X2
2 |50.
121
(a) —
il
169
b ==
(b) 5
196
(e) T
(d) L
4
JNBY-D-MTK (17-A)

If tan® 0 + cot® 0 = m, then what is the value

of tan 0 +cot 0 ?

(@ Jym+2+2
R
© (Jymrz+z+2
@ yymed+2+2

(b)

What is the minimum value of 6 —4 sin 6,

0<0< X2
2

(a) 1
(b) 2
() 4
(d 6

What is the value of x that satisfies
4 cos’® 30° + 2x sin 30° — c:ot2 30° -
6tan 15°tan 75° =07

(a) 1
(b) 2
() 3
(d 6

BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM
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cos? 32° + cos? 58°
sec? 50° — cot? 40°

61.

4 tan 13° tan 37° tan 53° tan 77°
& UH T8 ?
(a) 2
b 3
(c) 4
d 5

52. (1+cot?0) (1 + cos 6) (1 - cos 0) -
(1 + tan® 0) (1 + sin 6) (1 — sin 0)
FHAAFE?
(a) -1
(b) 0
(e 1
@ 2

53. ?Tﬁ2c0529+sin8—2=0,0<93 ar e

id
2’
T HE T8 ?

(a)
(b)
(c)

(d)

Mg w|la &3 &3

FER TR F I W @S TH Al & TR/
W THEAE Tfd § He TR At R AW g
@A 2 | 9 AEIET B0 B 30° F 45° B A
6 fime wma &, o 3w arfafies 2 oo el
¥ t fime o 8, @ fefefaa § @ 9 ad
22
(a)
(b)
(c)

54.

TT<t<8
8<t<83
83<t<86

(d 86<t<89

JNBY-D-MTK

(18-

55. U Wiz SEW % % W @I B, St urh
TR A h (M d) Iedwd  aedaht 2 f
TS ZTaT % IS HT I H01 60° ] 3N T F
TS 1 A DI 30° & | T T SuTg =

27

(a) 2h

(b) 3h

(¢c) 4h

(d) 5h

56. #M fifST ABC 5 cm, 12 cm 3R 13 em YT
el wh wHHiE Gys 2 | A ofid A & o
chﬁﬁﬁaﬁéﬁﬁmp%,?hwp

1 HH =T 811 2

(a) 24
(b) 48
() 60
(d 90

OABC U #H=gd 2 fmh o ofif b gm w
forg 8 fome &g 0 2 | AR wwegis &
&% 3243 T cm B, 1 g < B wn # 2

4 em

(a)

(b) 6cm

(e)

8 cm

(d) 16em

A
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2 o 2 Fqo . . .
0L Wat i the valtie of {:052 32° + 0082 58 55. A woman is standing on the deck of a ship,
sec” 50° — cot” 40° which is h (in metres) above water level. She
4 tan 13° tan 37° tan 53° tan 77° ? observes the angle of elevation of the top of a
(a) 2 tower as 60° and the angle of depression of the
b) 3 base of the tower as 30°. What is the height of
& 4 the tower ?
W & (@) 2h
52. What is the value of () 3h
(1 + cot® 8) (1 + cos 6) (1 — cos 6) —
(1+tan”0) (1 + sin 6) (1 - sin 0) ? (¢ 4h
(@ -1
(d) b5h
(b) O
© 56. Let ABC be a right-angled triangle with sides
b, -2 5 cm, 12 cm and 13 em. If p is the length of the
dicular dr fro rtex A th
53. If 2cos®0+sin8-2=0, 0<0< =, then PETIE  TT TeRe T
2 hypotenuse BC, then what is the value of
what is the value of 6 ? 18p?
T
(a) =
6 (a) 24
B =
4 (b) 48
n
a8 - © 60
n
W a d 90
Thilh Dewiy. sge t‘OP M vex:tlcal o 57. OABC is a rhombus whose three vertices lie
obse.rves (;ircmi mownagrdat 3_1 un;forlm sz;ed on a circle with centre at O. If the area of the
i ooty Voweine, S 15 “hpka rhombus is 32+/3 square cm, then what is the
6 minutes for the angle of depression to P T
change from 30° to 45° and further i
t minutes to reach the tower, which one of the (a) 4dem
following is correct ?
(a) T7T7<t<8 (b) 6cm
(b) 8<t<83 G
(c) 83<t<86
(d 86<t<89 (d 16cm
BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM:
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58. Uh W9 % YEI &A%A B 25% we1 fou wav|61. Uw Fiyw Frwdht yemed # w4 12 em, 16 em
21 3R p s T sfowa wgad 2, o 3 20 em ®, ¥ I (inscribed circle) F
Freafafea 4 @ SR ad 2 2 GABE (TATST) T R 7
(a) 16<p<18 (a) 4877 em
(b) 14<p<16 (b) 50F em
(0 12<p<14 (¢) 523 cm
(d 10<p<12 (d) 54 em

59. TF W W B CHEAH A F & i |62 T O TagH Ao & Fe yia dwer
121 T R | R TG et v e | S S 9 U A & O & wwe @
FE W A U TN F FA U S%e & @ qﬁwwaﬁmﬁﬁﬁwﬁ
ST 3 2 e r 2, @ fafafea d @ Sm ad § 2
(@) 2:1 (@) haer
(b) 3.9 fh) h=2r

(© 2h=3r
(¢ 4:3
(d 3h=4r
(d 65:3
. 63. U fawner &far & B % ™M 30 m 60 cm 3N
mwm%ﬁﬁﬁﬁmum_%'m 23 m 40 cm ¥ | W WM AHR H FHR
ik 2407 e B | vt e, St TS e I | wu-8-%n feadh e
3R HaTé T INTHS TR 2 PREREGA
(a) 16cm @ 30
(b) 17 em ®) 36
(¢) 18cm © 169
JNBY-D-MTK (20-A)
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58. The surface area of a cube is increased by |61.
25%. If p is the percentage increase in its
length, then which one of the following is
correct ?

(a) 16<p<18
(b) 1l4<p<16
(¢) 12<p<14
(d 10<p<12
62.

59. A solid cube is cut into two cuboids of equal
volume. What is the ratio of total surface area
of the given cube to that of one of the cuboids ?

@ Z2id
b)) 3:2
(¢) 4:3
d 5:3

60. The length of a diagonal of a cuboid is 11 c¢m. | 63.
The surface area is 240 square cm. What is
the sum of its length, breadth and height ?

(a) 16cm
(b) 17cm
(¢) 18cm
(d 19cm
JNBY-D-MTK (21-A)

What is the area of the circle (approximately)
inscribed in a triangle with side lengths

12 em, 16 cm and 20 ecm ?

(a) 48 square cm

(b) 50 square cm
(¢) 52square cm
(d) 54 square cm

Two times the total surface area of a solid
right circular cylinder is three times its curved
surface area. If h is the height and r is the
radius of the base of the cylinder, then which

one of the following is correct ?

(@ h=r
(b) h=2r
() 2h=3r
(d 3h=4r

A floor of a big hall has dimensions
30 m 60 cm and 23 m 40 em. It is to be paved
with square tiles of same size. What is the

minimum number of tiles required ?

(a) 30
(b) 36
(¢) 169

BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM
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64. TH Hfth H 25 FRA §I%A a1 Th FHN
@a $t i % 98 AT 5 km/hr F TS I
e AT § fSRae wwy @ 2
(a) 36fFe
(b) 30 fFe
(¢) 24T
@ 18fFe

65. WM Hife r B ael v 99 & IFeia @ B
LTS x & o 3t gd F FHaid HHeTg ﬁ‘gﬁ[
w1 &ed y ¢ | Frefafea d @ shma@t 2 2
(a) 9x°=16y”

(b) 27x° = 64y°
(¢) 36x°=49y°
@ 16x% = 21y?

66. aﬁwmﬁﬁéee%%w‘émaa’r
3Iaeh! wters foraq gftwra @0 6 sme arfe g
§I% 98 @ ?

(a) 50%
(b) 45%
(c) 40%
d 35%

67. 8 cm 3R 12cmgmaﬁa1@rwama%aia
e M odn swfreddt el gm smeeifea
Hftrehan Sawet w91 8 2
(a) 16n 9 em
(b) 182 a1 cem
(¢) 20na cm
(d) 24n91cem

JNBY-D-MTK

68. ABCD U aisR A2 & foed AB=x2 | =4

69.

70.

(22-A

FIHER AGH & &g O W 2x FaE F 0
Feafgt @UT OP @I 8 | a2 ~ APO = o, @1
cotam'émﬁ'{%?

(a) 2

(b) 2

© 2v2

@ 342

U 319 die $I g = feemn s 2 e R

F G AFGH T H AR 64 BIA THA
HERR 1 3 e & et # | 9 g F g
gaha &t B T % ydiE dEwe %

IqThe ¥ YT 91 R ?
(a) 025
(b) 05
© 075

d 1

% By ABC &t 3R B fiysi P, Q, R, S #
aﬁrw%ﬁlﬂ%w&mm 16 cm, 12 cm,
4cm 3R 12em® | P, R 3N S ¥ fog soom:
A, B 3R ¢ fifga & | Biys ABC &1 afta =0
2?7

(a) 18cm
(b)) 20cm
() 22cm
(d)

BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM
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64. How long will a man take to walk around the [68. ABCD is a square field with AB = x. A
boundary of a square field of area 25 hectares vertical pole OP of height 2x stands at the
at the rate of 5 km/hr ? centre O of the square field. If £ APO =9,
(a) 36 minutes then what is cot 6 equal to ?

(b) 30 minutes (@ 2
(¢) 24 minutes ® 2
(d) 18 minutes

© 242

65. Let x be the area of a square inscribed in a @ 342
circle of radius r and y be the area of an
equilateral triangle inscribed in the same
circle. Which one of the following is correct ? |69. A solid iron ball is melted and 64 smaller solid
@ 9x°= 16y2 balls of equal size are made using the entire

(b 27%? = 64y2 volume of iron. What is the ratio of the surface
© 36x°= 49y2 area of the larger ball to the sum of the
@ 16x%= 21y* surface areas of all the smaller balls ?

2 (a) 025

66. If the length of a rectangle is increased by
66% %, then by what percent should the width W 08
of the rectangle be decreased in order to © 075
maintain the same area ? @ 1
(a) 50%

(b)  45% 70. A triangle ABC has been divided into four
() 40% smaller triangles P, Q, R, S whose perimeters
@ 36% are 16 em, 12 cm, 4 cm and 12 cm respectively.

67. What is the maximum area that can be P, R and S contain the vertices A, B and C
covered by three non-intersecting circles respectively. What is the perimeter of the
drawn inside a rectangle of sides 8 em and triangle ABC ?
12em ?

(a) 16m square cm o) dgean
(b) 18w square cm (b) 20cm
(¢) 20m square cm @ 2en
(d) 247n square cm
(d) 24cm
INBY-D-MTK (23-A)
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3771 3T FTeT 7@ (10) FFAIN & 7w

Tel% T | U 99 B foeh e wed # |
Frafafga e =1 399 U y@® g9 w0
Waﬁﬂ::

(a) ¥% fapew w39 Hifsw aR w9 &1 3™
Fa UF HYF § eI o gwar 8 Al

72,

TE HF 8 T e s wean |
73.
b) & fawes wm s IR ww= #1 sW
frfisiem s a e s aswar 2 |
¢ I8 fawes w97 HifSw Ik = =1 3w
ZH1 HYAT I I § AR eI S geharn
8, SIfeh et T U I ITFIM | AT
IR A8l fean = gehar | %
d) ¥ fomes =z Hifse afz 1 st =
UF |y 9N § AR ot 999 1 I A8
Tz = = |
71. TH GEA 277XY5 (&l X, Y 37 §) 25 @ WA
o 75.
Yo7 ;. XHIHUHFR?
FIT]: A TREEI 9T AT R |
FYTI: X>5.
JNBY-D-MTK (24-A)

a, b ¢ % Afgdw o= F=0 & AR
THIHT ax® + bx + ¢ = 0 &I Teh A 2
22

33

FYTI: ¢ a FIE 1R |

FYTI: b ¥ aw FUE (-5/2)8 |

N9 W’lm>n,3ﬁm,nﬂ@m¥i@lﬁ%?

m
—>1.
n

FHITI :

FHYTII: m>2n.

¥ :  F A, B3I C fagai @ o gan @

g @i 31 a8 ?
HIAI : AB=5cm, BC=5cm,
CA =6 cm.
FYT 11 : AB=3cm, BC=4cm,
CA=7cm.
x 3 y smTa fawm quries & |
97 HE (x + y) B 9F AfgdF w9 A
fagtfe foran s wepan 8 2
FYI ; (x + y)* = 256.
FYTII : (x+y)3 < 186.
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For the next ten (10) items that follow : 72.

Each contains a Question
followed by two Statements. Answer

the

item

each  item  using following

instructions :

(a) Choose this option if the Question can be
answered by one of the Statements alone

but not by the other. 78.

(b)  Choose this option if the Question can be

answered by either Statement alone.

(c)  Choose this option if the Question can be
answered by using both the Statements
together, but cannot be answered by

using either Statement alone. 74.

(d) Choose this option if the Question

cannot be answered even by using both
Statements together.

71. A number 277XY5 (where X, Y are digits) is
divisible by 25.
75.
Question :  What is the value of X ?
Statement I : The given number is
divisible by 9.
Statement II : X > 5.
JNBY-D-MTK (25-A)

Question : What are the unique values of a,
b and ¢ if 2 is a root of the
equation ax’ +bx+c=0?

Statement I : Ratio of c to a is 1.

Statement II :  Ratio of b to a is (- 5/2).

Question : Is m > n, where m, n are non-zero
numbers ?

Statement I : w1,

n

Statement II : m > 2n.

Question : Can a circle be drawn through the
points A, Band C ?

Statement I : AB=5cm, BC=5cem,

CA =6 cm.
Statement II: AB=3cm, BC=4cm,

CA =7cm.

x and y are consecutive odd integers.

Question : Can the value of (x+y) be

determined uniquely ?
Statement I : (x + y)4 = 256.

Statement I :  (x + y)3 < 16.

BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FRO




76. I¥T : Wp2+q2+qﬁ'ﬂ%,3ﬁp,q

oL 79. Pyt a i @ wt YA B AaTEAT 25 em 3k
24cm ¥ |
FYTI: 2p+qfamm | o7 ;. HEH B YA Y SIS FTR 2

FYTI:  q-2pfawm 2 | FYTI: AFHHU1:2:3% JUE A 8 |

FY7I: THE MY F A H 98§ Y9 W

@i MU & i G 672 cm R |
7. ¥97: 99 CH SA% 18 ?

FYTI: Tem AEE B TH 99 CH g W
30° =T S0 Hdld HLd 8 |

FYTI[: 10 cm SIS I Th el C % g T
90° ST VT Fafd HTdt 8 |

80. Id C H UF A1 PQ W T @ H W YHR
fawfora #dt 2 fop Sefgs & &awa &1 3 T

AES & EF% 4 AT SO 2 |
78. Yo7 : w0 Bigw A wmeniE 2 2

¥ : CHh Bsmamg
FTI: A H A yaA ® gfge &
e A 1@ @S FH =, A h FYTI:  ALEE H FIFA 66 cm R |
dfraft g it w=rE i et F |
FYTIl: CHEE F §IFA 88T cm R |

FYTI[: AFHU1:2:3% FAE@H £ |

proesy (26-A) BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FROM
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76. Question: 1Is p2 + q2 + q odd, where p, g are [79. The lengths of two longer sides of the triangle
positive integers ? A are 25 cm and 24 c¢m,
Statement I : 2p + q is odd.
Question: What is the length of the
shortest side ?
Statement II :  q - 2p is odd.
Statement I : The angles of A are in the

77. Question :

What is the area of the circle C ?

Statement I :  The

ratiol:2: 3.

length of the
perpendicular drawn on the

Statement I : An arc of length 7 cm
subtends an angle 30° at the longest side of A from its
centre of C. opposite vertex is 6:72 cm.
Statement I : A chord of length 10 c¢m

subtends an angle 90° at the

centre of C.
80. A chord PQ of the circle C divides it into two
segments such that 3 times the area of the
78. Question : Is triangle A right angled ? major segment is 4 times the area of the minor
segment.
Statement I : The length of the line o
segment joining the
mid-points of two sides of A Question :  What is the radius of C ?
is half of the third side
of A. Statement I:  Area of the minor segment is
66 square cm.
Statement II :  The angles of A are in the Statement I :  Area of the major segment is
ratiol:2: 3. 88 square cm.
JNBY-D-MTK (27-A)
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T 37 a2 (02) ¥ & fore ety der w84, afe MwifeRe R, At 3M W W W1 R ?
faar #ifaa -

(a) 53%
HeE 0-30 | 30-60 | 60-90 | 90120
TRERAT 4 5 7 4 (b) 60
. (e) 160
81. WA T TGP T 8 ?
(d 180
(a) 60
b 72
it 85. & HHH & fi¥ & &9%er 200 o #eT 7 |
c .
JE A F EHR H & 3N WA TEg 3N
50 e 2: 1% 39E # } | HHE T B9
e AR Y 1 | B % %o o iy
g2. I wiewm (p) I wEEE (Q WA : mw%a:: i
: ane A sfwa 6 st Bft 2
7(Q — P) = 9R %! TgE H &, @ R H 9 F
L& (a) 40%
(@) 6 (b) 32%
A 8 (€ 20%
gt d) 155%
) %

377t 3R AT FT(02) T F 7Y FElenEd 821 W|gq 44 om W Yo AT TH FHER M F IHR

faeR I : T Y1 % GU-UTY TS Hh 36 THR Th JoH

e 40-50 | 50— 60 | 60— 70 | 70— 80 T S @ 6 see fawle M e

AT 4 3 1 2 I HF W A B | SoF T AFad 597 8 2
(= 22 )

83. &I HI U FT 8 ?
(a) 6776 99 cm

(a) Bl

(c) 54 (c) 5896 Y4 cm

(d) 56 (d) 5680 %4 cm
JNBY-D-MTK (28-A
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Consider the following data for the next|84. If M is the median, then what is the value of

two (02) items that follow : 3aM?
Class 0-30 | 30—60 | 60—90 | 90— 120 @ &3
Frequency 4 5 7 4 3
(b) 60
81. What is the mode of the distribution ?
(¢) 160
(a) 60
(d) 180
(b) 72
(¢ 175 85. The plinth of a house has an area of
200 square metres. It is rectangular in shape
(d) 80

and its length and breadth are in the ratio
2:1. The owner of the house extends the

82. If the median (P) and mode (Q) satisfy the terrace by 1 m on each side. What is the

relation 7(Q — P) = 9R, then what is the value percentage of area that has increased in the

of R? terrace relative to the plinth ?
@ 6 (a) 40%
&) & b  32%
3
© (© 20%
d 1
(d) 156%
Consider the following data for the next
two (02) items that follow : 86. A square sheet of side length 44 ¢m is rolled
along one of its sides to form a cylinder by
Class 40-50 | 50-60 | 6070 | 70 - 80 making opposite edges just to touch each
Frequency 4 3 1 2 other. What is the volume of the cylinder ?
22
83. What is the mean of the distribution ? aees T )
(a) &1 (a) 6776 cubic cm
(b) 52 (b) 6248 cubic cm
() 54 (c) 5896 cubic cm
@ 56 (d) 5680 cubic em
JNBY-D-MTK (29-A)
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87. TH T4 H 3Fa9 3600 ¥4 cm & | &1 EH
Tl H FABA 225 T cm AN 144 T cm & |
I HTEH FAh H HAB 4T 8 ?

(a)
(b)
(c)

4003‘fcm
360 91 cm
3203"?{:11:

3 3R i @ (03) ¥ F o Reffed w
fa=m #ifora

iy ABC #, AB=6cm, BC=8cm 3R
AC=10cm ® | BH G 71 &9 451 ACH DR
fierar & | BD Br=on (B g % ®19) % TH g4 AB
3R BC ! HuW: P 3N Q W Hear § a1 JIn@ A

(d 3003 cm

88, T THET i ¥ aRET SR e
36 cm 3 5431 cm & | 0T hi TS FTE 2
(a) 12cm
(b) 1l4cm
(¢) 15em
(d) 16cm

89. UM ST
X=(x|x=2+4k T& k=0,1,2,3,... 24}
2 | WM ST S, X # 3 WER H ITETET 2
5 s % ol off @ srEmal &1 ITHS 100 T
2| s ¥ sAftesan @wifaa s/Fal & w@Ew
fopart 2 2
(a) 10
(b) 11
te): 12
(d) 13

90. 52 cm B9 I g9 F = PrswEe w1 wf
164 cm & | GG 1 &a%a F1 ? 2
(a) 156 97 em
(b) 159 cm
(e) 14-4 9 em
(d 141 em

JNBY-D-MTK

@ w2 |

91.

(30-A

QC & weTE 1R ?
(a) 44cm
(b) 42cm
(¢) 36cm

(d 32cm

Ife £ ABD =0, ¥ sin 0 forereh sT@t 2 2
(a) 04
b) 05
(¢0 06

(d) 08
BUY SCHOOL BOOKS, GUIDES & SOLVED PAPERS FRO
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87. The volume of a cuboid is 3600 cubic cm.|Consider the following for the next three (03) items
The areas of two adjacent faces are|that follow :
225 square cm and 144 square cm. What is the

area of the other adjacent face ? In the triangle ABC, AB = 6 cm, BC = 8 cm and
(a) 400 square cm AC = 10 cm. The perpendicular dropped from B
(b) 360 square cm meets the side AC at D. A circle of radius BD (with
(© 820 square em centre B) cuts AB and BC at P and Q respectively
@ 90 squardeth as shown in the figure.
A

88. The perimeter and the area of a right-angled P D
triangle are 36 cm and 54 square cm
respectively. What is the length of the
hypotenuse ?
(a) 12cm i 5 C
(b) 14cm
(¢) 15cm
(d 16cm

89. Let

X={x | x=2+4k, wherek=0, 1, 2, 3,...24}.

91. What is the length of QC ?
Let S be a subset of X such that the sum of no

two elements of S is 100. What is the (a) 44cm
maximum possible number of elements in S ?
(a) 10 (b) 42cm
(b) 11

(¢) 36cm
(c) - 12
td)y. 13 (d 32cm

90. The perimeter of a sector of a circle of radius 92. If £ ABD =6, then what is sin 6 equal to?
52 cm is 164 cm. What is the area of the

sector ? (a) 04
(a) 156 square cm
(b) 15 square cm i
(¢) 14-4 square cm (e) 06
(d) 14-1 square cm
(d) 08
JINBY-D-MTK (31-A)
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93. gaH B w2
(a) 5cm
(b) 48cm
() 44cm

(d) 4em

37 3777 FI @T (03) T F forw HAEfoiea w

faer Fifa

= fiu U sm@ #, UF 97 PQRS % 3HHI Tk g
2 | PHH W UH J9d 5 719 4 cm x 2 em & 3K

RPN WO a1 Efen T 2 |
S

A/

P

94. I T HABS TR ?
(a) 10073 em
(b) 96m & cm
(¢) 50nacm

(d) 48n a1 em

JNBY-D-MTK

R

(32-A

95.

B T HT HABA T8 ?
(a) 50(3-+2)a em
(b) 25(3-2v2)Ftem
(© 25(3+2y2)Fem

(d 50(3-242)d em

BT & T AP T8 2
(a) (96-25m) T em
(b) (92 - 25m) I em
(¢) (96 - 16m) T cm

(d (92 - 16m) T cm

37 I aret 31 (02) T & fore AEfefea w e
FHNAT :
7 omt@ #, « B & o g9 F oidia 0 RE
ABCD 2 | £ DAE = 30° 3 2 ACD = 30° &
TR
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93. What is the radius of the circle ?
(a) b5em
(b) 4-8cm
() 44cm
(d) 4cm

Consider the following for the next three (03) items
that follow :

In the figure given below, a circle is inscribed in a
square PQRS. A rectangle at the corner P that
measures 4 cm x 2 em and a square at the corner R

are drawn.

S R

o

95. What

(a)

(b)

(c)

(d)

96. What

(a)

(b)

(c)

(d)

is the area of the smaller square ?
50 (3 - V2 ) square cm
25(3-22) square cm

25 (3 + 24/2 ) square cm

50(3—2ﬁ)squarecm

is the area of the shaded region ?
(96 — 25m) square cm

(92 — 25m) square cm

(96 — 16m) square cm

(92 - 16m) square cm

Consider the following for the next two (02) items

that follow :

In the following figure, a rectangle ABCD is

inscribed in a circle of radius r. Given

ZDAE = 30° and £ ACD = 30°.
94. What is the area of the circle ? E
D C
30°
(a) 100m square cm
00

(b) 96m square cm

(¢) 50msquare em A B

(d) 48msquarecm
NI (33-A)
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97. I % WTBA B G AAFE ¥ IIA FA I 3 TS 3 (02) I F forw AT W AER
22 I
= om@ #, 0 %% I W I F HFaTd T
: frygg ABC ? | WA @it s POA=x X
i Z0QB=y° 8 | 36% 3r@T OB =BQR |
e
(b) %
2n
(c) E
3n
d Sl
(d) 5
C
99. xaﬂ'(ya;ﬁ_ﬂ'w#ﬁiﬁ%?
@) x=y
98. A AEC I 8% 1 8 ? (b) 2x=3y
9 (e} . x=3y
()| ==
V3 (d) 3x=4y
2
B z
(b) ok 100. afe y =15, a1 ~ ACB foras su=t 2 ?
{ (a) 30°
o e
"8 (b) 40°
or2 (c) 45°
(d) =
d 60°
JNBY-D-MTK (34— A0
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97. What is the ratio of the area of the circle to the | Consider the following for the next two (02) items
area of the rectangle ? that follow :

In the following figure, a triangle ABC is

W =
v2 inscribed in a circle with centre at O.
Let 2 POA = x° and £ OQB = y°. Further,
T OB = BQ.
b —
J3
2n
(e) —
V3
3n
d —
V2

C

99. What is the relation between x and y ?

(a) =x=y
; 2
98. What is the area of A AEC ¢ b) 2x=3y
r2 (c) X= 3y
(a) —
NE)
(d) 3x=4dy
2
b)) — 100. Ify =15, then what is £ ACB equal to ?
2‘/5 Y q
(a) 30°
2
r
(¢) — (b)  40°
3J3
(c) 45°
21‘2 o
d — (d) 60
V3
JNBY-D-MTK (35-A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C.: JNBY-D-MTK Test Booklet Series

3.

10.

Time !nd : ” ours

TEST BOOKLET
ELEMENTARY MATHEMATICS

: Mmm arks : 100

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wronf answer

has lieen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(ili) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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